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A. java Foo. java

B. javac Foo. java

C. java Foo

D. javac Foo

2. Bar. java O3 XA VDTS LT85 E 4K
SNDT7 7 ANAIEEND.

A. Bar

B. Bar. java

C. Bar.byte

D. Bar.class
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A. java Foo. class

B. javac Foo. class

C. java Foo

D. javac Foo
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A. class Foo

B. class foo

C. public foo

D. public Foo
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WIS
A. a = b;
B. b= a;
C. a == b;
D. b=
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A, b+ c=a;
B. a+b=c;
C.c=a+h
D. a=b +c¢

1. FEHONEE a=2, b=3 DA, KOMERN
false |22 D H DX Eun.

A. (a < b)
B. (a ==2)
C. (a!=b)

D. (a == b)

8. XOFERN false

A.
B.
C.
D.

(true && false)
(true || false)
(Ifalse)

(false == false)
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public class StdOutput {
public static void main(Stringl] args) {

System. out. println( [ ] );
}
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public class StdOutput2 {
public static void main(Stringl] args) {
int a = b;
int b = 10;
System. out. println( a + b );
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System. out. println( s );
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import java. io. *;
public class StdInput {

public static void main(Stringl] args)
throws I0Exception {

String s;

BufferedReader buf = new
BufferedReader ( new InputStreamReader
( System.in ) );

[ c |
= buf. readLine () ;
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public class LessThanTen {
public static void main(String args[]) {
int a;
a = b,
it ([ ]){

System. out. println(”a 1% 10 X ¥
INEWNT)

}
}
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public class EqualValues {

public static void main(String args[]) {
int a, b;

100;
50;

a

b

if (a ==b) {
System. out. println( "ZE L W\7);
[ | "
"RE")

System. out. println( ~
}

else {

if (a ==b) {

else if (a == b) {
else (al=b) {
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public class SingleDigit {
public static void main(String args[]) {
int a;
a = 10;
it ([ 1) {

System. out. println("a 1X—#1");
}

> =10 || a < 10
< =10 || a > 10
> -10 & a < 10
< -10 & a > 10
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public class ForLoop {
public static void main(String argsl]) {
for(int i=0; i < 10; i++) {
System. out. println("Nyan”) ;
}
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public class ForLoop2 {
public static void main(String argsl]) {

for ( [:::] )

System. out. print (i) ;

}
}
}
A. int 1 =105 1 > 1; i++
B. int i =105 1 > 1; i—
C. int i = 10; 1 > 0; i++
D. int i =105 1 > 05 i—
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import java. io. *;
public class ForLoop3 {

public static void main(Stringl] args)
throws I0Exception {

String s;

int a;

BufferedReader buf = new
BufferedReader ( new InputStreamReader
( System.in ) );

s = buf. readLine();

a = Integer. parselnt(s);

for(int i=1; i <=[ | i++){

System. out. println( i );
}
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public class WhileLoop {
public static void main(Stringl] args) {
int a = 1;
while (a < 8) {
System. out. print(a) ;
a=a+ 2;
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public class WhileLoop2 {
public static void main(String args[]) {
int a = 10;
while( [ ]) A
System. out. print(a) ;
a——,

1

S oW
AN NN

oV e R e VIR o]

1
0
0
20. n OFEFE(IX2X3IX. .. Xn) OFEED 100

IRV KOnZRODL T 7T LEED
720,

T72bb,. 1X2X3X4X...Xn = 100 .
[x | [ v ICABRRZZEROE LWVEAEIE
.

public class Factorial{
public static void main(String[] args) {

int factorial = [ x |;

int 1 = 1;
while (factorial*i <= 100) {
i=1+1;
}
System. out. println(i-1);
}

}
A. x (120, y |IZ factorial=factorial+i;
B. x (120, y |IZ factorial=factorial*i;
C. x [IZ1, y |IZ factorial=factorial+i;
D. x [IZ1, y |IZ factorial=factorial*i;
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System. out. println( [ ] );

A. al0]
B. all]
C. al2]
D. al3]
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public class Array{
public static void main(String[] args) {
int[] a = {1, 2, 4,8, 16, 32, 64, 128} ;
System. out. println(a. length) ;
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A.
for(int i = 0; i <= n.length; i++){
System. out. println( n[i] );
}
B.
for(int i = 1; i < n.length; i++){
System. out. println( n[i] );
}
C.
for(int i = n.length-1; i >=0 ; i—) {
System. out. println( n[i] );
}
D.

for(int i = n.length; i > 0 ; i—){
System. out. println( nli] );

}
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